o(® ¢ (rad)

Ratio

=

a(d cot(B))

H
S

i ]
EAEEA R E AN SR

ESRRR -

had AR -+

o -
el o ERERIT
BN EREE QRIS R b
—— BEM-EREREEILBRY estLomeog St
-
€
o
e
=
<
O
o
o
B
1072
i, e
: LI
ST
o dit LIBLLELN 0 0 0 hi
o e R RHRERE +
3 FLLEFHTHAE
2
i e Fac 5 (i
0.95_ ............... ES - :». .............
- T -
E 4
O

Ratio

a0 p,/p,)

107 1

Loeeeeaents - s
1012 e v A AR R A 1 RE A RS AN Y Y
E T+ L=+ [ 1
- Tl
1.05F---------- LA o o Nl B *x 1 (S
| e EEEE TS FEE -1+ g RE s EEEEEEREEE
E ERANES
0.95¢ + 1 -
o] = 1
.9

(0 d) (cm)

1072
10I3J_ R N .! e ul L
1:_ --------------- b -:r T
(oX] SEEREREREREFERLE 5 1A 1 K B CRRRRRREREED
o +1 [
8

1

2 3
TPl;g)T (PCA t%obeamlinélf)



	Contents
	Page 1


